FTCZ4 FTC-100

TBRIAIRIRELR

NZ= R~
PP~
B REEANERS !
EIM—REHIE
UPSR RIS EREARSE 9 .
B . TR e EAE RS ©
HihfEng s

Y
o g= |
LSS EETEE RS R3S CRATFEBRNE , BINETE e -

F Ty )
BIERAT19. 23%IHE , & IR - 400 -
B SEHRES >15000% ( 25°C, 60%DOD) /1350 % ( 35°C

60%DOD )
35°CMRITEap 158

o SRISHTAIE
FASE
SRR 12V M 1SO 9001
e 100 Ah (10hr, 1.80V/ Bk, 25°C)
i)
e 103 Ah (10hr, 1.80V/ 845, 35°0 &1 15O 14001
SEER 35.5kg
1 : 400 mm M GB/T 28001
Rt 2 : 110 mm
B : 286 mm
PIBE (#%7eER) 7.0mQ
Shii==hi 1659A
B (35°C ) <4% (7fiE28XK )
HRE : -40°C ~ 65°C
EFEREEE 78E8 : -20°C ~ 45°C FEARIEATE
7% : -20°C ~ 40°C
e e sec e
BRAFEER 30A B HGFIRT, T, gP5E
$275: 2.23V/EIK, EMEEETIRIT | KIEEERRIRSD
FERBFE( 35°C ) RS Smy/ cell-C B KRS
— s B KT BRENTESEMESE , i
i M6
= AR
R FRERABS /EEEABS VO(T ) s

105% @ 40°C
REXIEERIRN(Cio) |85% @ 0°C

60% @ -20°C
Rit&an (35°C) 155




FTCZA%!

TR IRISEL

IERNEEEEER BAL A (35°C)

F.V/Time 30min 1hr 2hr 3hr 4hr Shr 6hr 8hr 10hr 12hr
1.70V 100 55.8 34.4 26.2 21.7 179 15.3 12.3 10.2 8.6
1.75V 82.8 55 34.0 25.7 214 17.7 15.2 12.2 10.1 8.5
1.80V 78 53.2 33.6 25.1 21.0 17.5 15.1 121 10.0 8.4
1.83V 72.6 50.7 33.2 24.8 20.8 17.3 15.0 12.0 9.9 8.3
1.85V 69.7 484 329 24.5 20.6 17.2 149 119 9.8 8.2
fBINERRNEBEIESR BAn: W/EHK (35°C)
F.V/Time 30min Thr 2hr 3hr 4hr Shr 6hr 8hr 10hr 12hr
1.70V 175.4 104.0 65.9 481 40.0 33.0 28.5 24.6 204 171
1.75V 155.2 102.8 65.5 474 395 32.6 28.2 24.4 20.2 16.9
1.80V 146.0 99.3 65.2 46.7 39.0 323 28.0 24.2 20.1 16.8
1.83Vv 135.6 97.0 64.7 46.2 38.7 32.0 27.8 24.1 19.9 16.6
1.85V 132.7 94.6 64.4 46.0 384 31.9 27.6 24.0 19.8 16.5
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